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https://www.cepal.org/ilpes/publicaciones/xml/0/43220/SM_N68_Formulacion_prog_metodologia_ML.pdf
https://www.cepal.org/ilpes/publicaciones/xml/0/43220/SM_N68_Formulacion_prog_metodologia_ML.pdf
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𝐶𝑜𝑠𝑡𝑜 𝐸𝑓𝑒𝑐𝑡𝑖𝑣𝑖𝑑𝑎𝑑 =

𝑃𝑟𝑒𝑠𝑢𝑝𝑢𝑒𝑠𝑡𝑜 𝑀𝑜𝑑𝑖𝑓𝑖𝑐𝑎𝑑𝑜
𝑃𝑜𝑏𝑙𝑎𝑐𝑖ó𝑛 𝑂𝑏𝑗𝑒𝑡𝑖𝑣𝑜

𝑃𝑟𝑒𝑠𝑢𝑝𝑢𝑒𝑠𝑡𝑜 𝐸𝑗𝑒𝑟𝑐𝑖𝑑𝑜
𝑃𝑜𝑏𝑙𝑎𝑐𝑖ó𝑛 𝐴𝑡𝑒𝑛𝑑𝑖𝑑𝑎
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𝐸𝑇𝑋 =
(𝑃𝑢𝑛𝑡𝑜 𝑑𝑒 𝑜𝑟𝑖𝑔𝑒𝑛)(𝑃𝑢𝑛𝑡𝑜 𝑜𝑟𝑖𝑔𝑛𝑎𝑙)

(𝑃𝑢𝑛𝑡𝑜 𝑑𝑒 𝑂𝑟𝑖𝑔𝑒𝑛)(𝑃𝑢𝑛𝑡𝑜 𝑞𝑢𝑒 𝑠𝑒 𝑝𝑟𝑒𝑡𝑒𝑛𝑑𝑒 𝑎𝑙𝑐𝑎𝑛𝑧𝑎𝑟)
=

𝑂𝐵

𝑂𝐵´

 

𝑚 =
𝑌2 −  𝑌1

𝑋2 − 𝑋1

 

(𝑌 − 𝑌1)𝑚 = (𝑋 − 𝑋1)

 

 

 



 

 

𝑑(𝐴, 𝐵) = √(𝑋2 − 𝑋1)2 + (𝑌2 − 𝑌1)2

𝑑(𝑂, 𝐵)

𝑑(𝑂, 𝐵´)
=

√(𝑋2 − 𝑋1)2 + (𝑌2 − 𝑌1)2

√(𝑋2 − 𝑋1)2 + (𝑌2 − 𝑌1)2

 


